Ubungsbeispiele AM Kehlsparren

Losungen

hey= 363, 7cm

hen= 272,8cm
Yu = ¥Ya = 45°

¢ = 594,0cm

X, = 24,665°

Ly = 653,6cm

lgpsx = 132.3cm
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¢I 4:‘1 Oy = 421,9cm
Yu = 52,822°

=~ Yo = 37,1718°

gy = 529.5cm

x, = 22,960°

L, = 575,1cm

| V, = 6,07cm

16 ahy, = 2kcm

V, = 10,55cm

ah, = &,1cm

Erstellt mit einer Schulversion von Allplan

ay, = 27,757
hF,A: 153,5C|T|
Oy = 291.8tm

Yy = 37.52°

¥,= 52,48°

gy = 479.1cm
a, = 17.768°
Ly = 503, 1cm
lg, = 811,8cm
hey= 196.7cm
Oy = 486,9tm
Yy = 52,770°
Y. = 37,230°
g, = 6116cm
a, = 17.833°
Ly = 642,4cm
0,, = 1529m
hpea = 176, 7tm
hpey = 152, 7cm
0y, = 14,56cm
Op¢y = 413,9cm
Uy p = 92,60°
Q= 69,771°
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